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1. At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph
1. e 12 5. W, @99 o%a 2@ 15 [t o AR Q< THae1eicy e (@5 a@l SR
Mo 2
A) 64 5. . afs 951 (B) 84 f5. fi. =fs g1
(C) 48 5. . =fs b1 (D) 36 5. f3. =fs 751
1. @3 o ey T aifecs ghca 15 R 12 [eenfom e s ¢t 2
A) 64 5. . afe 951 (B) 84 f. . afe g1
(C) 48 5. . =fs g1 (D) 36 5. 3. =fs 9]
1. T8 TSTAHETE T8 T S TRt " 15 fufem 12 e fio e armm?
(A) & ZEmE 64 o fo (B) & ZrmE 84 feho o
(C) & ZrmE 48 fho o (D) & ZAE 36 o o
1. 15 fime § 12 forarnfier g Forell Taea % TgeH & foTT T R 1 TSMF W fohd TR 8§ =@
=Tfee?
(A) 64 foho Hio Ufd =rer (B) 84 foho Hio ufd =rer
(C) 48 ko Hio Ufd =rar (D) 36 foho Hio Ufd =er

2. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
2. O] TG G YT (FICH % e A1 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
2. S 3RS SIS (@] >0 10T AP 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
2. WM 5US A fogem oe diaren e S ¢

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
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2. UMk TS I3RS | hIH-H1 I8 3{cd BT ?
(A) ADVERSE (B) ADVENT
(C) ADVENTURE (D) ADVERTISE

3. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
3. W& IS Wbl DS T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
3. P TR > (b *S T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
3. TR 1Y HieEwE! At

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
3. T Tt ATl 37 I T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor

4. Which of the following words cannot be made using the letters of MENDICANT?

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
4. MENDICANTS S[49792 2[4 4 FRire (st =< oo S i 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
4. MENDICANT-<3 SFFa&e] I8 ¢ oA (e <0 910 a1 IR A1 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
4, MENDICANT i erai®rR@! seEH TeE o« Hielewd! et g ?
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
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4. frfcfiga & @ #F-91 s MENDICANT o 3181 hl 3URNT shich Tl ST ST Hohdl &7

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT

5. At the Youth Parliament, certain number of country representatives sit in a linear
row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 (B) 21
(C) 32 (D) 17

5. @bl I AOWS (FIAN (PR Al whE 4 I el *i[e A2z | G 1R e
(@@ RIS S 02 | ¢ R 16T O [ e G 20 | qRcEzE [ @i o
BO QORI A0 | (TN UF AeFcE A2 Wiey, I, SIF (TN A[OE - G
CIFER 99 °} POR TMO SR | I 7/ SF (TN qe@ ([ TR e S
G TR IE@ (P SR CICS IR | QRCalTeT S FCH Ters WG 24 (2 A2 o0z | 39
ALETS 0o e o 2ifsfifd af2 =i 2
(A) 19 (B) 21
(C) 32 (D) 17

5. I3 AT, I8 MY (e eifSfiiEal @9 Mfiee TR G9R TRCER W AR | W e
qEfER AN e I e | e, aoEiftEE A SN T 00 | S, AR
T B9 B TETR | TSI, (TNICE 0% AR TETR Q<R (TN A 59 T 2013
(ACF PO | TR G (AR W& (O AR ARCH2A G GCRIRIE T | SICHE] G
FICH T A1 BB @ I0TCE | 3 AW (15 6 0P 0T ACACE 2
(A) 19 (B) 21
(C) 32 (D) 17

5. A8 A TECE HIE@W BEl ARHHRl TRUTHREE wEl S HH 9 wiEe e
e e st i’ AmtaeR frmEet | s wea ety smfataes amtomme | o e
RGN ATEIIwE sfomme el | FEEET ST ST Fee T &l STl |1
AmreTSfsr ormfyr miftre €1 wed e T STHTEh ToRE @ BTet €, Setgd T wEd
TS THATSHI | AT IR HHTSIH TS Teel’ Bet®RT et | T8 768 gredfy J=ew o

A GEeTd fSREET €7
(A) 19 (B) 21
(C) 32 (D) 17
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5. J91 Ge § %o ida wen § u & ity uew @it ufe 8 Sed § iR weft quiel i o He
Fh IS B & | TERITAT I aTE 3TN hat o9 =afh 93 2| fesfl, weeifan 6t o R 31med wom ™
2| ST, T % I N T W B | FATEI, SR F Ik 918 3R AaT 2, 3R AT ufth
ifom 2 BR ¥ T’ TE W B | TR 3R ATk o S 9 A g Seld R uwEiE %
THM 7| I 3R FATST & i hadl D8 99 d3d & | Fol et fohas 31 gar |9 § dad 87
(A) 19 (B) 21
(C) 32 (D) 17

6. Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank
(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
6. (IO Re (oifdest : PR« Rwoler sTasa 1 2
(A) fsif o ;oo (B) I+ToR : {F : @F
(C) FoI9 : (14T : fF@rl (D) 5% : T : AT
6. (P b C-ifFTe : =ig : RWeR-9g S ?
(A)%@:ch:ﬁ%j? (B) I~+ToE : wfaFIR< : %
(C) T : (314 : 32 (D) <4 : (AP : 7Ty
6. F& TohaT U0« U : BRI ST | ?
(A) TSR : S : foge (B) HHER : Hia@ filt : S
(C) W : ferfiit : foutmar (D) T8 T : TARR : s@E
6. =H-41 ey 4R : B : pd o GHH &7
(A)aﬁ’[:@m:ﬁf@o—é (B)W:af\wzam
(C) e : oRae = Tohara (D) T8 : HMER : WM

7. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

7. I REAR = 42, TEAR = 44 9¥ DEAR = 28, (93 WS (o] @[ S9% 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
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7. M REAR = 42, TEAR = 44 @3 DEAR = 28 ¥, ©(3 JIod (P 9o (Slel 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

7. 9@ REAR = 42, TEAR = 44 3T DEAR = 28, 37ecll MeMH a6 ST oS 1 S1a61 7
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

7. af¢ REAR = 42, TEAR = 44 3X DEAR = 28, di ffafad o & f9-81 92 Tad o+ 4

Srer T 27
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

8. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE

8. e “MCGl ~7 IR AP Rl Fefdy 9
T8 : IS el @ 2
(A) IR (B) e
(C) (D) =
8. O b 7S T Ol e ot
e : TS :: el @ 2
(A) SR B) =R
(C) o (D) =&l
8. a1 WiEEE! g WAl 9 e aea
G : AY ¢ G
(A) I (B) femtmar
(C) TRremg (D) T=
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8. 2ifam yg = Wi & forw waw foeren @ifsiw -
T« SATHIA :: 1T« 7

(A) ™ (B) J&Th
(C) T (D) e

9. Identify the pair with the same relationship as Child : Vaccination.

(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals : Food
9. g : BFreaeR el TFAYS @RI Pre F |
(A) &9 : &Y (B) < : I
(C) Tfew : o (D) &% : ¥
9. Frg : TPPRI-99 JCOI G2 F~4((F Gfo 1S T4 |
(A) =9 : 8y (B) < : <l
(C) Tfew : Jioars (D) =@ : 2
9. Ty : FAUEN™ Jmfd WEEl AT SErE fomte |
(A) AHSTHE : gfd (B) &R : T
(C) Sl : Tl frerman (D) e : 3ATGR
9. =T : HHT %k THH HaY dTt S i Tg=H Hie |
(A) @ : qdn (B) @M1 : 9ehrl
(C) e : TS (D) 9 : HISH

10. Which of the following words would not fit correctly in the sentence?

hit on his head.

The person died of a

(A) lethal (B) fatal
(C) deadly (D) subtle
10. fHfIl® (PIFCHT > 2ws TS Q17 T 2
PR ST FoTS G T9F (2T |
(A) wETT (B) er=ret
(C) T_Ig (D) ™
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10. ‘el Mmoo [ IR 17 @3 IR0 ACEE (@I XF0 APFSE A9 AR

«?
(A) w®OTIS (B) le=rel
(C) T (D) =
10. TEEM 99 AR A SHE SIUTEE Gd STHE 817
o R WA QST 9T
(A) Fr@ema (lethal) (B) WU (fatal)
(C) figerqg (deadly) (D) 31 (subtle)

10. F=ffaa & @ wF-o1 wse ar d ¥ @ ¥ e & e
fR®W__ 9ER @ =afw it Oid 8 T
(A) =ITdh (B) SHeran
(C) AR (D) Hg

11. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
C) 4, 2, 3,1 D) 4, 3, 1, 2

11. 3 BqE! Sfeq SFPIR 27e *SrTies e )R] [ 272

1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
€ 4,2,3,1 D) 4, 3, 1, 2
11. @31 S 2Rcfe Sfsy SRRl e WS AT @ F 23 ?
1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
€ 4,2,3,1 D) 4, 3,1, 2
11. TTE AFRTET SO AR Sge™ oFE aRfed s SR 71 S[eH 7
1. Royal 2. Regal 3. Renal 4. Rebel
A) 1, 2,3, 4 B) 4, 3,2, 1
€ 4,2,3,1 D) 4, 3,1, 2
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11. THF TS W3 o STJAR 37 W31 1 Tal W F1 2T 7

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 (B) 4,3, 2,1
C) 4,2, 3,1 D) 4, 3, 1, 2

12. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

12. 27, 30, 37, 50, ?, 98 *R¥FCH WA(F IBART AT TS FRATCH| FHbe F9 |

(A) 69 (B) 73
(C) 81 (D) 91

12. 27, 30, 37, 50, ?, 98 @b TSI BRI @C® TS 7RYIG FH=1oe et |
(A) 69 (B) 73
(C) 81 (D) 91

12. HIRGE! oS ATTTEAEH STRSTE SHSHE! 99 |
27, 30, 37, 50, ?, 98
(A) 69 (B) 73
(C) 81 (D) 91
12. 1A 1 U2 @1 ¥ I WA & fore 3fua wen @ == il
27, 30, 37, 50, ?, 98
(A) 69 (B) 73
(C) 81 (D) 91

13. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined
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13.

13.

13.

13.

HIAA 7K P @ ©F (enifoecs €<, 7 Ee(d e Mo’ @ @ “@Edq Ofe oo |
(SSEF Tl F=oFe Rl @eco! $'9 “fF 2

(A) 7RI B (SfoetE BI%[

(B) /@1 S (enfed Twel S

(C) farer fefeRIS TRIces e

(D) ey 77 it

[F1 Tcece (Sifed (5@ o751 Jce Wik eq, % o), @ “F3 6 o/ O & @ 7@l
ST | OISl e I (PG @ T 2

(A) = SR Cenlfe Cbe ICh!

(B) “E<I @R (SIS 43 THOF

(C) Fro fomecem Sea ™

(D) Teefme =1 T =1

ugsfan Meet safafgg Sifem g o, e gsitagg St faarn ugeft amamEn T
BT Ui | forER Shergel A e ser 6 ¢

(A) gl Sfdfrge TEem

(B) Ugst R Safc=n w@e MSh

(C) febrarn wumfy TeE i

(D) 1 &

ugell, St | @t S H1 g A 7, Afh fEan, S uget @ @t 8, St @ R gt e 2
TRl S & =R § Tl #§ @ o et S gehar 27

(A) uge fifsa w7 @ s=fa @ B R

(B) "get 3 soifa it <fems wwe 2

(C) o =i & Te@ @il B

(D) T & fepam S wekan

14.

At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter
(C) Niece (D) Sister-in-law
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14.

14.

14.

14.

TS GF SEPITS AR G SfScToe SIghrR 1, ‘(08 (N MR WZq GG I
Tl | TR OO TS IOl Noq 75 15 2732

(A) @ (B) SRS
(C) iyt (D) =T

GF FCEACEH SR, TN 6 SfecTor e 2fere Fa qcelreeer, fofl smm *refem
GG (2CEE O | ST N I967 A Frerd T=oIFe 2

() = (B) e

(C) =iy (D) <

T PR A EETETeTE WA SR REe gam, R iy P
T FraTenty fe | S RSt e W A S

INIRECIE (B) framsi

(C) femrme (D) e

TS FHicts GARIE H, UHISAT 4 Th AT 3hl AR I Hd Y Fl, a8 WU A % Ihaild o H
e 87| i i uf 1 JAe ¥ o w2

(A) == (B) =&

(C) wsit (D) =

15.

15.

Find the best option to fill in the third term :

Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system

(C) Rocket (D) Radioactivity

T “MCH1 A FRRCA SRS RIHh! e s
T : T 2 2 PRI

(A) TT HAWE (B) TS for
(C) =D (D) (&Sl
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15. 9o “Mib “=Cld &= TR et o
Qegeer « oISh1 22 2+ (PIonafeem

(A) TS AERE (B) TS w7
(C) AT (D) (TSl

15. iy TR 3 Qe et e e
STATHT = =2 =2 7 2 FATHEH
(A) & TrERE™ (B) efasrafs aif
(C) The (D) g1 wmmfyr
15. gl 98 &l W % foru wam ey @ifs
TecaThuUl T : 7 : HIHR
(A) T aRE=Ro (B) §-chiseh Jome
(C) Tehe (D) Yfezhafifan

16. Consider the four numbers given here :

I. 376 II. 629 III. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) II
(C) 1 (D) IV

16. =7e BIfRG! 732y [Eaven 599 ¢
I. 376 II. 629 1. 921 IV. 397

2IfSCHT TR SEFCLD] THGAS AGCE (] Tgel IR [ TPeTo 2 2
(A) I (B) 1I

(C) I (D) IV

16. NI (sl BIAMD A0 Ravel T+
1. 376 I. 629 1. 921  IV. 397

2fSfb T STFRfTCP THEE AT 2031, (Pl T9w FRMM FAOT 23 2
(A) III (B) 1I

(C) 1 (D) IV
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16. THH AFS SHSHTHRE! AR 2
I. 376 II. 629 III. 921 Iv. 397
Sfe AFmHmEEl FARNHIN FAF®RE! St SIiRErE dsEl, 3Tl 96 MeH SANERET safgs
ERIEEESIICE
(A) III (B) 1I
(C) I (D) IV
16. I & TE 9R gEst W famm Hifsw
I. 376 II. 629 III. 921 Iv. 397
Ife Yk T ol TR A | Fafedrd R S, @ sH-H T g aed et 77
(A) III (B) II
(C) 1 (D) IV
17. Find the odd one out.
(A) Sparrow (B) Crow
(C) Bat (D) Peacock
17. wifel *w@ehl [oifS Slernes |
(A) =i (B) <FIT
(©) g (D) T4 >R
17. [ {oe @9 o |
() vuR (B) <r<®
(C) e (D) =R
17. TS ARl AR Qg |
(A) @@ (B) =@
(C) memtiet (D) TSt
17. 3AWA & qg=T- |
(A) TIRET (B) hraT
(C) =mmes (D) HR
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18.

18.

18.

18.

18.

Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?

(A) Aunt (B) Grandmother
(C) Mother (D) Sister

G FCOIEFS o9 B SRR AR $'cl,— (9¢7 ©Ofgq e (7 FRMTOR
GG TR | felell *[q9] S (FIe AFACE T=o/F@ 2

(A) ¥ (B) wizel
(C) Wy (D) =

GFf =[S *Re-99 F 3re F@ e e, OF SiREE el SR e g
e | el eI *[e-9F A% 7=IfFS 2

(A) R (B) frema

(C) e (D) =@

e wa anfd ogmm mieen gem, ot faerf foeen snfy emenfr e feeren”’)
Tifert 3TRI WAty Ari=arsT |1?

(A) forme (B) fort

(©) fomm (D) T’ /fommma

T TR IRd A AR TR FA g AfeH I w1, CSEh 9 F fiar W st F gehedd 9o
2| wiferdt, s @ fore yepR wafe 27

(A) == (B) @t

() = (D) =&

19.

19.

19.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

gt ROBOTICSE OROBITSC 2513 ¥°T 41 =, (908 PROJECTST F°T 2'9
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

7t ROBOTICS-4q (e OROBITSC ¥, ©¢d PROJECTS- 4 7S 2¢4

(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
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19. Jfe ROBOTICS f7 & OROBITSC, 37sal PROJECTS 1 ar simia
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

19. I ROBOTICS &I OROBITSC & ®9 # =hifed foha1 Sa1 8, @ PROJECTS =1 v/ &9 @
g fopan STum, o8 @
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

20. In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?
(A) South-East (B) North-West
(C) South-West (D) East

20. 95 RS FrReg S AR SR 27 FE Wer | Pirea e % wiEwe T e
5191 BICE, RO POREE S[qeR <16 FICE SICE | AEF SIECo! [ORTE 91<eTd #[1 (Feol e
21 2
(A) wFRa-= 1 (B) Teq-#ifoy
(C) wEFa-oIf5 (D) °=

20. ¢35 BfEER Fieza 4w qcea v 7 s | Firezn GoR B9 v acce o 4, @
oo AbR ~f5x e | oo <16l (ACF AICTA A6 (FIe W 2
(A) wfEpe-o (B) Teq-#(5x
(C) wEFel-=If*5x (D) 7

20. T ARETeEE e st @ wesi e 'R eeeils ety ged
HHSTR ST Ferarf s dmmete | @t wesien fearf wesmid sefs omar?
(A) ETAT-BHSII (B) |T-GHTETY
(C) EAT-FHTEy (D) SIS

20. T fafearr & IR =1 fisw, s & R & ud 61 3R 21 IR & TR & ik sfeawr § wreg =1 fosm

2, S <far o fosR @ fdm it 3% 2| <fiar o fisR @ e o fost fore foem o 27
(A) sferor-gd (B) IW-ufzm
(C) afequr-ufim (D)
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21.

21.

21.

21.

21.

Find the value of [(107 +102)+ (103 +107%)]=10°.
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (103 +1072)]+ 10° T N+ (7 59 |

(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (10° + 1072)]+ 10°-9g 1= feiefy et |
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +10%)+ (10° = 1072)]= 10° f1 wH fag)

(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102%)+ (10° +1072)]+ 10° =l "H 1 =Hifsw)
(A) 100 (B) 200
(C) 2 (D) 1

22.

22.

22.

If A:B=23, then 144A : 36B is

A) 4 (B) 12
(C) 3 (D) 16
I A : B =3, (S(3 144A : 36B 3 T+ 27

A) 4 (B) 12
(C€) 3 (D) 16
M A : B =3, 94 144A : 36B-3 W 2

A) 4 (B) 12
(€) 3 (D) 16

SPACE FOR ROUGH WORK
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22.

22.

Jf¢ A : B =3, 3%l 144A : 36B T amn
(A) 4 (B) 12
(C) 3 (D) 16
Ife A : B=3, A 144A : 36B HI A &
A) 4 (B) 12
(C) 3 (D) 16

23.

23.

23.

23.

The fraction equivalent of the recurring number 2-19 is

271 217
(A) —= (B) =—
99 99
219 291
C) —— (D) ==
90 90

CMmg7{fep HRYT 2 19 F F@eTy @aIRN (27

271 217
(A) —= (B) =——
99 99
219 291
€) — (D) =
90 90

SIge TR 219 -G TG S 25

271 217
(A) — (B) =——
99 99
219 291
() D) -~
90 90

2.19 SEATRUTS At IHNSHIN T SiEE @il 7

271 217
A) -5 (B) =—
99 99
219 291
©) -+ (D) ——
90 90

SPACE FOR ROUGH WORK
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23. Il T 219 w1 guged fia g

(A)

©)

271 217
ol (B) =—
99 99
219 291
=7 (D) ==
90 90

24.

24.

24.

24.

24.

The largest of 26, 35, 4% and 5% is

(A)

(€
26
(A)
(®)
26,
(A)
(®)

26

(A)

©)

(A)
©)

26 (B) 3°

44 (D) 53

35, 4% 9 53 FAACHIHE T WIS ALAICH! 2]
26 (B) 3%
44 (D) 53
3%, 4% @R 53-9q Wy JTEAH 29

44 (D) 53
3%, 4% @ 53 73 T T

26 (B) 3°
44 (D) 53
35, 4% 3 53 1 ga@ w2

26 (B) 3°

44 (D) 53

SPACE FOR ROUGH WORK
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25.

25.

25.

25.

25.

For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is

(A) Tn (B) 14n

(C) 21n (D) 28n

GG B AR (RS (74l VT @ (S (TS qol Tl A NHCA BRI
SABFICOIE T2 3“1 T | A DR b P 70 6. . =W, (98 *lewer| 1060
9l PSSR R 2 (RB qe) wfowy Ffee 2

(A) 7m (B) 14n
(C) 21In (D) 28n

~

GF AT ACEIRE CFq @9 AW @ g6 ABIcee 7ol 7ge MEPER AN HIE fein
I

RG] Ao = | AW ARCICE B I 70 G WL =, O 1016 A=< wliicece ARt
o 91 g ([Worea) 2=

(A) 7m (B) 14n

(C) 21n (D) 28m

T ATEhal AT Jamte, fo deerat @q 2 Or fhfesen, famf amamen w= 3 arfifeet| g
YTgehdd HMaT T@en 70 9. f1. S/, e o @ 10 °R fhidsen, @gehen s MW
(foewe) wrRaArTH?

(A) 7m (B) 14n
(C) 21n (D) 28n

T TTEfhd TaR % fou g <@ e fF g @ quf Sefer & fore wmfeRa whr swren ufean 3 ot
TS ST § | A BiEfehet o dfed &1 s 70 Wo Hio 7, @1 10 wof Uefom # wwfera g0 @@ A
T g (fe H) ©

(A) 7 (B) 14n
(C) 21n (D) 28n

SPACE FOR ROUGH WORK
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26.

26.

26.

26.

26.

The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2+/2 cm. The area of the triangle is

(A) 2 sq. cm (B) 242 sq. cm

(C) 4 sq. cm (D) 442 sq. cm

9Bl IR fage PN SIE TwoR el A WIF PORcs %9 vl 242 (6. . | Uges
AT

(A) 2 3 ¢o. fi. (B) 2+/2 3of (5. fir.

(C) 4 3sf ¢v. f. (D) 442 39 (5. 3.

G(B TP fagres o € Twor #Ifel A G9R PeR A2 o) 242 G1. . | fageioy
CPazret =2e]

A) 2 3o 1. . (B) 2+/2 3of @1, .

(C) 4 3of 1. . (D) 442 3o @ fi.

T Ty e gYmE g I St Marer v 3 o 31y stmnfuft ez
242 @, fir. | 9 smEnfSremfy wifern

(A) 2=t @, . (B) 22 =t @, fa.

(C) 4 =t @ fa. (D) 4+/2 =i 4. fi.

Tk THAI P T MR R 3T Fars IiAmr § e 2 SR e S B e 242 Fo o
31 Bt =1 & @

(A) 2 =t Fo o (B) 2+/2 &t Fo o

(C) 4 = Wo o (D) 4+/2 =t Fo o

27.

In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42
(C) 49 (D) 56

SPACE FOR ROUGH WORK
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27.

27.

27.

27.

19 7@ S8 I G RYA (A bl 2IRPRS BJe A& FFCEAER I0 TR Sreqie
2% | S RIS A2 761 A R 91 2% | G2 71 A 2 0T (R

(A) 35 (B) 42

(C) 49 (D) 56

1 W@ e 26q TR AISER I (A0 MG (&I AL AR el 290 | SRABSR (AT
212 7{6 121 Reave 1 27 | G2 7M6 MU FI9Ree 23

(A) 35 (B) 42

(C) 49 (D) 56

1 S RS 3 SHANET AREEE T S SASHTERE! SENAE S | A TSRS
Tmfs 99 7 ARG 9 TR | S WE 7 SHSETERN S S

(A) 35 (B) 42

(C) 49 (D) 56

1 ¥ Y& B et AR g f geen #, ot on ged ger f St € 9w § ¥ yew
7 et W o fifsw) 573 7 dwenett o A 2

(A) 35 (B) 42

(C) 49 (D) 56

28.

28.

Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4(A-B)
(©) Af (D) 4AB

Yol R4 A € B3I @S 39 F@ C (o[ 9°9 | {981 B7fe A 7[ B [l ¥ 3sf
IS D (-1 A | C—DF ASF BS 2 Fce AFRIMCH 2]

(A) A(A+B) (B) 4A-B)
©) A4B (D) 4AB

SPACE FOR ROUGH WORK
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28

28.

28.

7 SR A € B (F AU @l 91 W GR 95 T¢I C A I/ | AF! 41 A (A B [l
1 27 G FEIe qof PACel D /NS AR | A € B-«G3 AR AR C — D (F 2™ FCe 31

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

A I B IERWME IEEAH - FE & g n ¢ Anam | 3 H wifeE B @ A fwm
aW@ A ol A & feg= D 9| C - D@ A TR B fo@ema wRArrsa

(A) A(A+B) (B) 4(A-B)
() Af (D) 4AB

C YT &3 & foTU uget a1 G&A1sT A 3T B bl SISl Sl @ qT 39eh1 o foham ST 2| 37Tl =R/
A, AW ¥ B & 921 ST @ 3R D " 1 & fow 39 aftory =1 ot foean strar 1 9o ¢ - D
Fl A X B % ®9 H It i TN

(A) AA+B) (B) 4(A-B)
©) A4B (D) 4AB

29.

29.

29.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3

(€) 5 (D) 2

Ty B AT 12509 779 Ece Qb1 7j<fqaf JR2y ¢l A= 2

(A) 4 (B) 3

(©) 5 (D) 2

T FR A AR 1250 (@ 39 FAcE o 99 A AN AW GAfp el v |
(A) 4 (B) 3

(©) 5 (D) 2

SPACE FOR ROUGH WORK
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29. 1250 @ 3g I WA S G SAISTHISH AT |
(A) 4 (B) 3
€ 5 (D) 2
29. I =JJqH T 1 hitse, e 1250 &l T I a1t s o fore 7o foren s =nfeu |
(A) 4 (B) 3
©) 5 (D) 2
30. When the numerator of a fraction is multiplied by 4 and the denominator by 9,
the fraction reverses. The fraction is
4 2
5 3
© 5 o)
30. 95l TIE TP 4 (T IF 29 9 (T 779 Face SR 2ARSCAN AT IR | SR (2=
4 2
(A) 3 (B) 3
5 -]
(C) ” (D) 2
30. I SARCE FACE 4 TF G TACE 9 AR B9 1 7eel oA Teb AW | w27
4 2
(A) 5 (B) 3
5 3
(C) 7 (D) 5
30. SscT AFY SEEERRIE BHEl 4 S AESsl A Sl 9 S, o siEeEeen 3ot fifeet| o

TG

(A) (B)

NSNS IS NN
N|Ww WIN

(€) (D)

SPACE FOR ROUGH WORK
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30. v foreft firer & o791 &1 4 @ 3R & & 9 W o fohan ST &, ot Tt Ite Sfan 21 = fiar @

(A) (B)

(€) (D)

ENSNS; NS NN
Nw W

31. At what percentage of simple interest does an amount of money double in 12 years?

A) 919 (B) 81%
2 2
Q) 8l D) 919
(€) (D)
3 3

31. 1 YOO (FICT oA 12 =TT YO 789 770 e @q B« B 2’7 w11 2

&) 919 (B) 81%
2 2

©) 81% (D) 9%
3 3

31. T 0 T *OIH 2T e 12 =09 @R 27 2

10 }‘O
(A) 9§A> (B) 82/0
1, 1,
(€) 85/0 (D) 93/0
31. ANY AEIE! IERE 99 ER TR g3 Fieal 12 S o ST B ST
10 10
(A) 95/0 (B) 82/0
10 lO
(€) 8§A> (D) 93/0
31. HIERY S o foha faeTd W i g 12 a6t # g 8 Smt?
10 10
(A) 9% (B) 8%
10 10
() 85% (D) 9%

SPACE FOR ROUGH WORK
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32. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9
32. Wbl J99 (PTG 7T 1 : 3. € O CFaFor e 27
(A) 1:6 B) 2:9
(C) 1:9 (D) 6:9
32. ¥fb J0eT TPICHT ST 1 @ 3. OIwa CFaFCER ST 23]
(A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9
32. @ AHAM FEEHRH SS@mEl 1 3. oM i Ssramn
(A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9
32. @1 gl ot Brsonedi 1 AU 1 : 3 B 1 IH &ABel Bl AU B
(A) 1:6 B) 2:9
(C) 1:9 (D) 6:9
33. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600
33. 1003 100% F 59 200 F 200% 5l FECH FoFa] 2
(A) 300 (B) 400
(C) 500 (D) 600
33. 100-93 100%-93 ¢ 200-97 200% (15l FHCeT FoIFe] 203

(A) 300 (B) 400
(C) 500 (D) 600

SPACE FOR ROUGH WORK
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33. 100 100% 3@ 20014 200% @ T=TEsAT HHTH
(A) 300 (B) 400
(C) 500 (D) 600

33. 200 % 200% H 100 T 100% Sie 9 qROmH T8 8
(A) 300 (B) 400
(C) 500 (D) 600

34. If a+b=8, b+c=20 and a+c =18, then the value of a?+b? is
(A) 34 (B) 43
(C) 46 (D) 64

34. M a+b=8, b+c =20 T<F a+c=18, (B a’+ b2 I 12’7
(A) 34 (B) 43
(C) 46 (D) 64

34. I a+b =8, b+c =20 4R a+c =18 T O a’ + b2-4d I 3
(A) 34 (B) 43
(C) 46 (D) 64

34. it a+ b =8, b+c=20 I a+c=18, 31 a? + b2 f1 am
(A) 34 (B) 43
(C) 46 (D) 64

34. Ifc a+ b =8, b+c=203ﬁ'(a+c=18,ﬁa2+b23h‘l‘=lﬂ%
(A) 34 (B) 43
(C) 46 (D) 64

SPACE FOR ROUGH WORK
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35.

35.

35.

35.

35.

If 2* =32, then the value of x is

(A) 4 (B) 5
(C) 6 (D) 7
M 2% =32, (B x I A 2]

(A) 4 (B) 5
(C) 6 (D) 7
JM 2% = 32 2, OF x-9GF [ 29

(A) 4 (B) 5
(C) 6 (D) 7
Sfe 2% =32, st x 7 7

(A) 4 (B) 5
(C) 6 (D) 7
Ffg 2% =32, @1 x 1 UE &

(A) 4 (B) 5
(C) 6 (D

36.

36.

36.

The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19
551 G SR TR Q6T 95 (P11 931 | IRYCFEHN SABIROLF TIST FRIAICH! (20T
(A) 17 (B) 21
(C) 23 (D) 19

56 e S AR @I9=FST 95 AN (ol | RSO qexy 26 26
(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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36.

36.

HINY A 5 9 T SHASHIGRM ISTemeaT 95. afrgs e sHfSmmn e
(A) 17 (B) 21
(C) 23 (D) 19

5 AT foog et o1 I 95 UMM ST 2 | Hed o W @
(A) 17 (B) 21
(C) 23 (D) 19

37.

37.

37.

37.

37.

If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 (B) 7
C) 4 (D) 6

Ifr Wil =20 34p5 (51 9 @ ey =7, (98 p I WA 27
(A) 8 B) 7
©) 4 (D) 6

g IS =2 34p5 B 9 771 [orsy =7, ©@es p-93 99 3@

(A) 8 (B) 7
(C) 4 (D) 6
Sfe swifier SHSET 34p5 @ 9 St TSN, el pf wr
A) 8 (B) 7
(C) 4 (D) 6

Ife TIHeE & 34p5, 9 A fousT B, A p I AR B
(A) 8 (B) 7
(C) 4 (D) 6

38.

The maximum area of the circle that can be drawn within a square of side 4 cm is
(A) 412 cm? (B) 4n cm?

2
©) T em? D) * cm?
4 4

SPACE FOR ROUGH WORK
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38.

38.

38.

38.

4 (5. M. q27 I9(CFq B[ fewqe SfF #[1 T8 B[ AHH CFaFe] 27

(A) 4n? <sf 5. . (B) 4 3o (5. fX.

© Ll 6 R D) ™ 2o 5. fu.
4

4 @1, . AERME @ I9(CFad [T0E@ FCe F1 Jred AEH CFawel 20d

(A) 4n? <sf &1. . (B) 4n 3o 1. fil.

© Zf o D) ™ <of n. .
4

4 9. fg. srats ma1 i e a9 eaE sEa 2t Rt
(A) 4n? =i 9. fu. (B) 4n = . fir.

© Zaid fu D) ’faﬁa. fir.

4 Wo Ho AR & Tk =il & ofiaw T ST Tk a1l o1 b1 SHferehaw &oe @
(A) 4n? =t Fo o (B) 4n =t "o o

() %aﬁ@o o (D) ’faﬁao o

39.

39.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday
(C) Sunday (D) Monday

v o1& IR 2, (o0 92 g I9 frefchl 2°7

(A) = (B) @<=
(C) sfRa™ (D) CTR™

SPACE FOR ROUGH WORK
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39. I wI& IAR 23, ©reE 92 e 77 Wi 3@

A) *FRE (B) W&

(C) FR=m= (D) CT=E
39. Sf¢ faif am Fe@m, steet 92 AWH 3@ | 4F SETH?

(A) wFHER (B) She

(C) Iemm (D) THaR
39. Ife oS To@m 8, d@ 92 feai % =g = fe= g

(A) rHER (B) HaR

(C) Teram (D) HrER

40. When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is

(A) 4 (B) 2
(C) -2 (D) -4
40. (FC &F MAE ISMAT 7/ FRACOA Fofel @3¢ [ FReE 279 ¢ TG 7=l IR |
ARIICH T2
A) 4 (B) 2
(€ -2 (D) -4

40. @35 2me MYyF foq @9 7T 5 (P [ T 7@l RN BETea @R 7R e

TR | FRYAT 29
(A) 4 (B) 2
(€) -2 (D) -4
40. Sf¢ 8 SHREIH SR S aFsTeme e a@ A, Tee fhr o safwEE s s
SIEIES
(A) 4 (B) 2
(C) -2 (D) -4

SPACE FOR ROUGH WORK
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40. S& fordlt g @1 fF T 39 wen & ° uer fen Srar 2, @ aform 9@ g w21 9w

e ®
(A) 4 B) 2
€ -2 (D) -4

41. In Roman numeral, XCI represents the decimal number
(A) 41 (B) 21
(C) 91 (D) 111

41. QWA RN XCI @ ORI AT (208
(A) 41 (B) 21
(C) 91 (D) 111

41. @ 27 XCI 711 Bfee wa1 mifs s1enfs &=

(A) 41 (B) 21

(C) 91 (D) 111
41. WM g@=E XCI T gwifies =fsmmn s

(A) 41 (B) 21

(C) 91 (D) 111
41. A 3R °§ XCI 59 Semea §@a o1 idiited i g, 98 8

A) 41 (B) 21

(C) 91 (D) 111

42. A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m
(C) 11 m (D) 12 m

SPACE FOR ROUGH WORK
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42.

42,

42,

42,

13 fil. g &en Gore Tty (rel 9T (REI 1 IR O TR @0k I 5 . Twere
SCR | CRAIETYeE AR, I @41 ©oTq Y99 e Sfefie 199 (27

A) 9 f¥. (B) 5 fx.
(C) 11 . (D) 12 fu.

13 fi. trcda (b 2 @3 Torg (SR AN GO (20 SR @ OF ToEd a8 5 .
THOR TEFS | (TEICET WO GR BT TCh 2ICF Ty Wi 79 2

A) 9 fi. (B) 5 fil.

(C) 11 . (D) 12 f.

13 . TMieTa STreet Tt AR SR meite 5 . shergme R gFH el | ST arerTts
TES ST MemEfef fefem semsan sw?

(A) 9 fa. (B) 5 .

(C) 11 fa. (D) 12 fa.

13 Hio el T WG Th FHeaATaw Sar W gehl g5 ¢, e ol faw 5 o i F=mg W | dEn
% feet TR TR it & feet TR < off= &t afos gl @

(A) 9 Hio (B) 5 o

(C) 11 #io (D) 12 #io

43.

43.

43.

The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is

(A) 1 B) -1
€ 2 D) 3
2,-1,3,1, -2, 5, 6 MRAITFICGR T (22

(A) 1 (B) -1
(C) 2 (D) 3

MY T 2, - 1, 3, 1, -2, 5, 6 -9 T4 2
(A) 1 (B) -1
(€) 2 (D) 3

SPACE FOR ROUGH WORK
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43. AR WM 2, - 1, 3, 1, - 2, 5, 617 T
(A) 1 (B) -1
() 2 (D) 3

43. TS % IHA 2, — 1, 3, 1, -2, 5, 6 I HIEAS ©
(A) 1 (B) -1
() 2 (D) 3

44. A person moves along a path such that he is always away from a given point by
7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is
(A) 22 m B) 44 m
(C) 122 m (D) 144 m

44. g Tz 9 owe [vE o[/ w7 [ @g o R 9 W o 6fe w9 1 ey
GeTca oife TR (98 T TG AEN e TeATe 20N | @2 RIS (96 TOFH 91 79
EIRERIDRET
A) 22 . (B) 44 f.
(C) 122 f. (D) 144 3.

44. 93 e 9T GO 7Y 4 B @ O AW G0 WWE 7y AeF 7 W e ToR A |

%ol Dol 71 O W] Ol A fpee e | @@ e cseed ety sfeae

SR 7Y 2e
(a) 22 f. (B) 44 fx.

(C) 122 f. (D) 144 3.

SPACE FOR ROUGH WORK
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44, 98 THGET 38 AW SREER oaeE arel o o wee fagem seaet 7 . msme om
W gH AEEAEE 3 o e e SR Ghia | 3 gEE gueeEr 39 msH

DICIDCIN
(a) 22 . (B) 44 fir.
(C) 122 . (D) 144 f.

44. TF AR TF 99 W 34 THR FAdl § o 98 U 70 0 forg @ guen 7 Hio w81 FB R T
% 918 I8 A IO AR forg W UgE ST 8| W WA % SR ATk SR qd 6l Tl STgHT
e

(A) 22 Hio (B) 44 o

(C) 122 Hio (D) 144 o

45. A cube of volume 1 m? is cut equally into smaller cubes of volume 1cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000

(C) 1000 (D) 1000000

45. 1 99 fil. I 919 @OF 7@ 1 % 6. fil. SR Fgue A w0 s I Sferear 274 |
21e I G AR (AR

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

45. 1 99 ¥, SRS GFb T FRAFD I FFCH FOed 1 ¥ @1 W, IR e [oe
91 2 | Y FY TIPS AR 2

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

SPACE FOR ROUGH WORK
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45.

45.

1 =9 5. TS T T S 1 EE 9. . O S e SHew i s, Teed
et =M STETH?

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 59 Hio 3THAA ITd Teh 89 bl 1 &9 Ho Hio A 1A SIS T H GHE &Y F Il STal g | 91g
T B 54T I GE&T 2

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

46.

46.

46.

46.

46.

The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 (B) 18
(C) 48 (D) 36

6, 8 T[F 12 (3 GCF TS [erey JeToq 19 B2 FLCB! 23
(A) 24 (B) 18
(C) 48 (D) 36

TSN ISP 7RI AN G2 M 6, 8 &R 12 =H1 [eren, ¢ 2w

(A) 24 (B) 18
(C) 48 (D) 36
FAFRgE AR ISEATE TSN e 6, 8 ™ 12 S TS, S Se
(A) 24 (B) 18

(C) 48 (D) 36

T Blel TFTcHS Ui, S T |19 6, 8 3R 12 ¥ fawrsa &,

(A) 24 (B) 18

(C) 48 (D) 36

SPACE FOR ROUGH WORK
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47. The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is
(A) 1 (B) 2
€ 3 (D) 4

47. 3-SR TGRS TF I FIE TR AF 2-WFYS A I FIGF TR 12 (202
(A) 1 (B) 2
€ 3 (D) 4

47. 3-SCF U T I FRY G2 2-S[CF] IR TP I R A& 212 291
(A) 1 (B) 2
(€ 3 (D) 4

47. ANA 3-GESHEAT Tl SO s SR [RE 2-aFsmrE miomm 99w smisE Tsa
AT BRI
(A) 1 (B) 2
€ 3 (D) 4

47. 3 3hi Sl TEH DIl TTH{dR 97 GEAT 3R 2 37! ! God I UTehfdeh TH TEAT & o=l X &
(A) 1 (B) 2
€ 3 (D) 4

48. A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is
(A) 16% increase (B) 16% decrease
(C) 32% decrease (D) No change

48. (FICN GOl RATF A 40% I I 276 F ©OF Plee 40% M F91 277 | *[SR¥ AR

IRETCHR o ~AfRaé (20

(A) 16% I= (B) 16% Z™
(C) 32% 2 (D) wlfafe®

SPACE FOR ROUGH WORK
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48.

48.

48.

B TRANF 40% I T T AR 2[TOICS 40% 2T F41 27 | <o Ff{ed =g b
gIEEICOIES|

A) 16% I= (B) 16% 3™
(C) 32% ZM (D) S~fFafee

FoET AFE fomEt T 40% SEF™ SR SR 3 40% @UEARE ST | SararstE o fsami
3T AT S&H

(A) 16% =el (B) 16% @H &l

(C) 32% ww Sl (D) St e

T G H 40% i Ihg T8 IR 3T 18 40% FT & | WA H I[E IR fawrd 8
(A) 16% 3t Ffg (B) 16% ! =Ht
(C) 32% =t =Ht (D) I3 e T

49.

49,

49,

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years

(C) 50 years (D) 45 years

M A, B S CF 9TC I3 22 I89 SF B F C J 9% 2P 25 29, (98 i #[90 9 I27q
e A3 P 27

(A) 25 3= (B) 35 =

(C) 50 =7 (D) 45 3IA

I A, B 8 C-93 9T I 22 927 IR B € C-9dF 5% 37 25 I=J =, ©F 94 (AF 9 I2d
7 A-99 T O 3(A, [ e |

(A) 25 = (B) 35 3=

(C) 50 =7 (D) 45 =

SPACE FOR ROUGH WORK
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49.

49,

Sfc A, B 3R C T 7T sEie 22 dER A” B AR C [ T S4ie 25 dGRse, 9 SR e
AT @ se sa?

(A) 25 TR (B) 35 =@R

(C) 50 FER (D) 45 SER

Ife A, B 3R C il 378d 31y 22 a9 qo1 B 311 C il 30wd 1 25 a9 2, @1 9 ¥ 9 41 918
Al 3T J1d shifS |

A) 25 =¥ (B) 35 =

(C) 50 = (D) 45 =d

50.

50.

50.

The smallest among \F, \F, \F and \F is
2" V3 \4 3
1 1
o o
1 2
o f: or
LSO -
2”3’ \4 3
1 1
o o
1 2
o f: o
1 1 1 A28 )
\g, \g \/; ﬂa\\g @7 e Fuew WG 2
1 1
o o :
1 2
o o 2

SPACE FOR ROUGH WORK
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50. \g \E, ﬁm\gﬁﬁwaﬁﬁ@w

1
(A) \g (B) 3
1 2
(©) \/; (D) 3
1 1 |1 2 ~
so. |11 L st |2 st e
1 1
(A) \g (B) 3
1 2
(©) 2 (D) 3
51. Ifgz%zg, then XTYTZ 45 equal to
(A) 2 (B) 3
(C) 4 (D) 5
f_g_g X+y+z .
51.:@3_4_7,m . ERICI
(A) 2 (B) 3
(C) 4 (D) 5
i_g_g )C+y+Z_
51.&%3_4_7,@2@1 . G A
(A) 2 (B) 3
(C) 4 (D) 5

SPACE FOR ROUGH WORK
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51. R X =Y _Z smen XTYTZ oy g swim
3 4 7 z
(A) 2 (B) 3
©) 4 (D) 5
51. at XY _Z { XYY 2 a2
4 7 z
(A) 2 (B) 3
(€) 4 (D) S
52. Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is
(A) 18 B) 20
(C) 22 (D) 24
52. TOI TR 2 : 3 TAOS TR A PRST 91773, OF #..8.-7 7[R 96. A Yo I9RFe

52.

52.

€343
(A) 18 (B) 20
(C) 22 (D) 24

(b TR TS 2 ¢ 3 G W[ AT 8. QR F.B.-F BORFeT 96. F Y[Be CAI5TFeT 25

(A) 18 (B) 20

(C) 22 (D) 24

A oA SS@EmEn 2 0 3 R oM 3.3E. AR gL W aeseTEa 96. o foEH
HAAT AESTSAET e

(A) 18 (B) 20

(C) 22 (D) 24

SPACE FOR ROUGH WORK
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52. 3 TEAM 2 : 3 FIU H T N 39 Heqd THUEGS R Tgqd THUEE *1 PEGA 96 & | aMl

Gl A 2
(A) 18 (B) 20
(C) 22 (D) 24

53. The value of Y82 is
A) 1 (B) 3

(€) 2 (D) 4

53. ¥82 RIoIEX]

(A) 1 (B) 3

C) 2 (D) 4
53. J82 g W

(A) 1 (B) 3

C) 2 (D) 4
53. ¥82 fum

(A) 1 B) 3

C) 2 (D) 4

SPACE FOR ROUGH WORK
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53

82 mam 2
(A) 1 B) 3
€ 2 (D) 4

54.

54.

54.

54.

A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55 (B) ¥0
(C) T270 (D) ¥45
@I @3 IR 2fepie @ [ s a2 wwe @3 g ged AREeE =0, 58

2fSRIMCOIcT Afod & 799 2'ceiz ¥ 120 FIfb TMd | G TR 92 dfowie & 105 s
FCE E (el S [ T T 3 W2le bels 7 | 3 W2q WS ARSI Yo SR

(A) ¥55 (B) ¥0
(€) 270 (D) 45

a5 W “ifFma =1l gosfs e Afew [N S O o™ o Bed e a7 98 2fe
B9 120 (FG (1T 2| GG Gfe @ 105 RS @ @R @I Sfoe «ifwe
ffeTcs 1 ¢ 3 I (@0 (@ | 3 TP I @I (B SR’ 3¢

(A) €55 (B) €0
(C) €270 (D) 45
Y BT HEHAHE T SHYHSAT FE SeARETE o TS BEA SR U™ GEA SIS

HHAAT € 120 @ I A4 ARG | 98 GIST & BIA FHAEE & 105 SH FHT TR SHall 3
T e o o et g 3 @iiaat| g 3T e faerfy g s sme

(A) T35 (B) €0
(C) T270 (D) 45

SPACE FOR ROUGH WORK

SLRC-2024/pP-111/ 1-F 46



54.

wF w4 A faw i 72 e fifaa ufin v wde % o Qg @ s, afe seE v e W
& 120 f ufyr e <ft St 21w =afth 3@ wH § T 105 1 Faw war @ e fon foet srfafes
Tfyr =1 fremn oy 3 Wi ok IRY waar B1 3 W o fd W 3Weht g T Bt

(A) ¥55 (B) ¥0O
(C) T270 (D) ¥45

55.

55.

55.

55.

55.

The count of prime numbers between 80 and 100 is
(A) 2 (B) 5
€ 3 (D) 4

80 I 100 I VEr® SAFe (NfeTss FLT (F35! 2
(A) 2 B) 5
<€ 3 (D) 4

80 W3R 100-9F ¢ T[FS (Mot 74N FM 2
A) 2 (B) 5
C) 3 (D) 4

80 3T 100 TS Hi9ad Tar FAfHT 37
A) 2 (B) 5
C€) 3 (D) 4

80 31 100 o &= 319" g3t i TEdl 2
(A) 2 (B) 5
<€ 3 (D) 4

SPACE FOR ROUGH WORK
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56. Which of the following punctuation marks is called ‘apostrophe’?

57. Which of the following means similar to ‘elevated’?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

58. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake

59. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.

60. Choose the correct option :

We ___ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed
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61. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
C) I
(D) You

62. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

63. Identify the correctly spelt word.

(A) Mongrel
(B) Marval
(C) Martal
(D) Middel

64. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was

65. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best
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66. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran

67. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

68. What would be the antonym of ‘friend’?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy

69. From the list below, identify the synonym of ‘lament’.
(A) Sad
(B) Mourn
(C) Copied
(D) Molecule

70. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally
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71. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy

72. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

73. Fill in the blank :
Tuhin ran ___ than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting

74. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

75. Which of the following punctuation marks is called ‘hyphen’?
A) ()

(B) (/)

< ()

(D) ()
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76. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty

77. Which of the following means ‘o get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

78. lIdentify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) T went to go home now.

79. Choose the correct option :

Is your brother ___ to the gym?
(A) gone
(B) going
(C) go
(D) went

80. Which pronoun is used for ‘non-living thing’ ?
(A) I
(B) We
(C) Us
(D) It
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81. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten

82. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

83. From the list below, identify the antonym of ‘cheap’.

(A) Price
(B) Poor
(C) Expensive
(D) Rice

84. What is the synonym of ‘furious’
(A) Laughter
(B) Witch
(C) Impure
(D) Angry

85. Identify the incorrectly spelt word.
(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle
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86. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter

87. What is meant by ‘to get the green signal’ ?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

88. Fill in the blank :
Lokesh can jump very ____ .
(A) high
(B) higher
(C) highest
(D) tall

89. What is the collective noun for “fish™

(A) Swarm

(B) Pack
(C) School
(D) Herd

90. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.
(A) Either, or
(B) Both, and

(C) Not only, but also
(D) Neither, nor
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91.

91.

91.

91.

91.

The international festival ‘Kullu Dussehra’ is celebrated in which State?

(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana

WS NoF TAG g T (Pl S [T Pl 2 2

(A) f2sTHeT 2o (B) Teqes
(C) Teq aom (D) =f<rE

IS Tew TR e MO (I A0S AT 77 2
(A) fesDeT 2w (B) Teaie
(C) Teq 2o (D) 2=

TSR BE g TR @l 9 TSNS Bl S ?
(A) feama g (B) W@ g
(C) W = (D) =TT

FTE R ‘g S b8 T | T ST 27
(A) femma yam (B) IWI@S
(C) IW e (D) =femm

92.

92.

92.

The Bering Strait separates which two landmasses?

(A) Australia and New Zealand (B) The USA and Russia
(C) South Africa and Madagascar (D) Japan and China
AR 2NN I BT TLEF 72 P 2

(A) =i fern o fefecare (B) SR &A1, S MR
(C) W% SRl S TMIeR_ (D) I ST B

Q@R 29T (I 75 FeToIoIcS 7% ¢ 2

(A) STOLERT ¢ Fere (B) iR I=a18 @ AR

(C) Wil SRRl S TWISRE (D) S 8 B
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92. S TT-YATeN o WA FT-TWi=IE! SramEi?
(A) srefern emt el (B) 330 THo To TR AR
(C) Wi 3TTHehT 3T HETTEHT (D) SUM AW ==

92. ST SEf foR &1 J-amTT T 3TeT At 7Y
(A) ITEfern 3R =sficie (B) UIH UsT I IR &F
(C) afeTor ThiehT TR TSR (D) STOH 3R ==

93. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan

(C) Joi Barua (D) Maitrayee Patar

93. *RPAIE (FIACI (A SErFlTw’ A9 NS T 2
(A) TR TEFa (B) ey el
(C) & Il (D) CCas! ~ma

93. *[FE (FIACIR NS FeTHlerwl’ Al (F feTeeee ?
(A) oI &b (B) Tifery g2z

(C) =& I (D) CICETt “Ires

93. IS Hiek T ‘HAeTsh=al NS G an?
(A) o= TR (B) @If=Ied =1

(C) S s&al (D) TRft a1eX

93. IS hidk N M T “HAARM-<1 Mq foper fora?
(A) T TR (B) wrf=rea g

(C) S F&3T (D) T3t areX
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94. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika
94, SPRILYFS (INITT FIMRAN T4 g SRR SAoeT 9 < 2
(A) ToETe 991 (B) i@ 919 Tl
(C) 2AET (23 (D) T b" P
94, TIRILLETS (NI FIR (F14F 9 AP AF© 7 F1 2
(A) o5 Il (B) @ 1 Tl
(C) 2@ (23 (D) I bF AP
94, wEw YR foran g e e o get w7
(A) TS T (B) Hfer FHR Sl
(©) fet g (D) T3 =5 B T
94. FTEH TUeR g Tg BT 1 3Fel I &
(A) T S (B) dfes FUR S
(C) Te g (D) FHE F% BRI
95. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?

95.

95.

(A) Nabakanta Barua (B) Hiren Bhattacharyya
(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta

SR m o] R/ T e PR o (e fetifee 2

(A) TRIE I (B) 21 SHIBRA
(C) SEmN *FJE (D) S FAQ 7S

C=IBTE ~[FF “TEAE 8B =B IR (#1412

(A) TPIZ I (B) 2A& SHHR
(C) Scamene *2HR (D) S FAR 7S
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95. Ty ATERM fosE “wm-Red T -gw wegwd @t ur forai?

(A) e ST (B) fetd wer=md

(C) Sz iR (D) ¥7%9 AR <
95, =i hl J¥daH, IMARTE THYE Welgy fhad foreft?

(A) T T (B) f& wer=md

(C) weg =1 Afern (D) 3T&T FUR &

96. Kanchipuram Saree is produced in which State?
(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana
96. T[T HIT (I JETS LA F91 27 ?
(A) T (B) Siferrg

(C) wfibe (D) CogEal

96. FIfes[H *If (P qcen TeAfre 27 2

(A) e (B) wIf¥erg

(C) fib (D) Cecel
96. HI-IJH ANE! Fel TgsieTa fagi?

(A) T (B) TS

(C) wleh (D) TR
96. HEITH AT = IcuTed ford T=T | Brar 27

() A (B) qfIeHTg

(C) ieeh (D) AHTHT

97. Who among the following was a famous painter?

(A) Vincent van Gogh (B) John Lennon

(C) Bob Marley (D) Marlon Brando
97. fafIiRe (FFoEIF gan [yre Haws fes 2

A) TS == o’ (B) & (ST

(C) 3’7 weef (D) et Al
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97.

TN (& G e o f=eem 2
(A) SIS S Sl (B) S &I

(C) 33 el (D) SCef ACl

97. TR T W AHAT GErET Fremi sniaumH?
(A) T 97 ™ (B) S o=
(C) & AT (D) e STe’
97. f=fafga @ 8 #19 s uftg femer on?
(A) Tage 3 (B) S o=
(C) e =t (D) e SE
98. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent

98.

98.

India?
(A) Lawn Bowls (B) Badminton

(C) Carrom (D) Judo

ST SIfeRll (DY S T HBFRNZ (FRY (LeTe ©qes aAfofig w2
(A) &3’ (B) @ofioa

(C) &V (D) el

SPICE OTfeRll (BIYRT G el > (I Lo ©lHeed dfeffag o ?
(A) 9 79 (B) IO

(C) N (D) et
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98. MM AT =NeRl AR Fouf TElhamn Raf =M | Tk ?

(A) & ad (B) efirea
(C) Fm (D) &’
98. 3@ I AT =eR} 3T T aferan forw wat o v =1 wfaffeea st 27
(A) 1 ard (B) sefieq
(C) ¥ (D) eI

99. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand
(C) Sania Mirza (D) Leander Paes
99. FT[GA (FLANFIF e T |
(A) T I (B) ~[C&wT Nt
(C) wifera fi (D) FraesR ciw
99. T (CETRITCE Bfee T3 |
(A) TN FHFE (B) =&l conAAmm
(C) miferar faret (D) Fraer e
99, defirer TeumE! ey
(A) €T FHHRR (B) goral MU=
(C) @t furst (D) forre ¥
99. Ssfied faare #i vg=ny|
(A) T HHER (B) gt TR
(C) @t firstt (D) ferier @

100. In which sport did India not win a medal at 2020 Tokyo Olympics?
(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling
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100. 2020 5 TR~+Fe SRS (FFRY (RS (G 27F e F41 Need ?
A) I 1= (B) SIS
(C) DRCIRICT (D) &=
100. 2020 (GIfFe SAH[(F TS (FIo (LT P (ST ?
A) = (B) SIS
(C) DRCPRICTI (D) I
100. 2020 "AReEH 2fHhst fafis TRErEETE IRAT ¢ T Jed HarRa ?
(A) et (B) fifer Sarm
(C) dTERaTE (D) EHARHM
100. ¥RA 4 2020 2 3cfus ¥ fohe @ § ues 7€t Ssfiar?
(A) geaSt (B) WRIHeR
(C) qrIHIe! (D)
101. The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton
(C) Gymnastics (D) Track and Field Events
101. RS aAfsfare™ »<e TN e &6l @R (FFF P00 Sivs ?
(A) ceR (B) S0
(C) femgf = (D) G oF fFwa (<
101. RS ZfeEfaTer *e/all TRRS foiol (Pl (L& A TS 2
(A) o= (B) TG
(C) T (D) I @R fFeeeq cem
101. 9FH SRR TERARAEN SR SPM € form e Telmsi diHi=r M1 7
(A) g™ (B) ssfed
(C) Twfs® (D) 2% AR BIYRTE T AT
101. SWWE i foFd ©a | Ufqaifiarsti &l wa anfies @ 87
(A) TR (B) Fsfiea
() forfeesa (D) <& IR Hieg WA
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102. Identify the incorrectly matched pair.

(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis

(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football
102. WS Jferel &q1 @[es! Hre o |

A) T owe awasf : @b (B) = 3’sf : a7’ (5fem

(C) B2ee T : s (D) & =T @ « Fo3@
102. ETOICa (FEICA (el e e |

(A) COF @ : fGFeFd (B) g1 3of : =1 (Bfer

(C) Ti2eME T : o (D) @M @MICeel : Fo3e
102. TRIFR sEREE SO A |

(A) e wgamt : fRehe (B) =& & : @ |

(C) T 3IgH : Teh (D) ffEam’ THTee’ : Fead
102. Tad GAfAd SIS i g8 |

(A) T TEal : fohoke (B) =M @ni : &t 2|

(C) 2SR g&d : Meh (D) ferfeeamt TATee! @ Feard
103. Where is the National War Memorial located?

(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar
103. IR I& HRooTah 3'© w[iers 2

(A) Hesra (B) o frg

(C) Brar (D) o
103. B T TP (I TS 2

(&) Fi (B) g fra

(C) <rear (D) Sone
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103. A IR 99 flde o1 €7

(A) TR (B) e fegt

(C) e (D) 3TIaER
103. T Ig TRk wel fod 27

(A) A (B) T faght

(C) (D) TR

104. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

104. HFIRS @GR e PN b3S fNee P7=ral (e 2
(A) ST SN il
(B) 2wt SRepael
(C) ey o< B qrerg

(D) ffecher st

104. o (DR 0o SPT AIICHT TR 2Pe Goo ?
(A) TR @ G
(B) =T KAl
(C) gf¥ woret @ g Ao
(D) fEfEore fors

104. W TWERH e Sg-am=n MeE /s amar 37
(A) T HRa IR =3 T=
(B) TSIl MGl WA
(C) BT-XEI TR BI-TSIT
(D) fafsieet wetios
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104. 799 9R & e sgu fefafad & @ frag gafa =7
(A) TR AR TTSAfeht
(B) wieer wxtfehentol
(C) ofwr stfer@ 3R W Tsa
(D) fefsrea faem

105. Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
105. RIS (@I Afepm Afafens T2 TR AT v T2 2
(A) =Ce 9% o’ (B) W2wm 9% 2w
(C) 6 o= (D) Bior 59
105. Sioq (Pl AR e Taraees e & w1 2
(A) FHEH SIS 5 (B) ifzml = Tifzm@
(C) G sy (D) BI5T b
105. TR e BHATT IR TR MR TE17
(A) TR TS T (B) #le= U= Afg=
(C) w§ med (D) 2rT "™
105. F=ffaa & @ wF-o1 gred arfofsyss et & =ream § T8t 27
(A) oA T Za (B) Wizt Urs ez
(C) ®IH Hied (D) 2T Hied

106. If the pH of a liquid is 50, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
106. FICT O *MYq pH WM 5:0 3¢, (73 o191~
(A) P egphed (B) eifirs arpfeq
(C) w9 4T (D) wfir zrgfes
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106. &6 @qCe . @25, (pH) 5:0 2@, G2 =0
(A) I zgen (B) formcers erphon
(C) o7 4T (D) = 2Feq
106. Sfc HHH AEE pHRAT 50, el o AE@rEl
(A) wRe g (B) &5
(C) & o1g (D) tfre mgH
106. S« et 5 =1 flo THo (pH) AF 5-0 8, @l 98 59 8
(A) TeF(d # & (B) Hfd # deey
(C) & 91g (D) TFd | A
107. Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh
107. 1 &SI, 2024 ACACH SRq SRS (Pl 2
(A) TR 5% oI (B) I M &FIR™
(C) oM (T (D) Freene B
107. 1 SRFEIEAI, 2024 MCACF ©Feed SYREAN 7 2
(A) ColET™ B oI (B) N M (FIR™
(C) S g 4T (D) eI iR
107. 2024 "EAEH 1 SRk Erfdfeme TRaf oeTs grRRffeEn ar?
(A) TS =] RN (B) T 1Y i<
(C) SFTET &Rt (D) Ty T
107. 1 SHeRl, 2024 1 R o ITFHTd i 27
(A) TS =8 TRl (B) TH 1Y whife
(C) STEH gEg (D) Ty g
108. Which of the following belongs to Class I category of lever?

(A) Scissor (B) Wheelbarrow
(¢) Human arm (D) Stapler
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108. RIS (@I 228 @A froma om®af© 2
(A) B (B) CoeTl SISt
(C) e A2 (D) ¢ 7T
108. TIA @D A2 Ifaw ferecas omsfs 2
(a) <o (B) comNfe
(C) T TS (D) SBII7eT
108. e e H=aan omar 1 foemf fafefr?
(A) ©Hi (B) et it
(C) "R st (D) WHAR
108. f=fefiad & & s-u1 <fiax it =en [ 2oft @ gafea 27
(A) h=f (B) e
(C) HEa gsi (D) TUR
109. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland
(C) The United States of America (D) Japan
109. (FF (7 TSR “[oFT 81 peie o0 987 bl F& HF = ?
(A) =fest (B) pIERCAIG
(C) SIC<F TS (D) Il
109. (T (TR QISR TSP e “DPHee GFio A T SR ?
(A) Fifeet (B) YTEREn
(C) WIF Fea1g (D) S
109. 59 TERA fHRfhermra Mist mef | TR %9 37
(A) SfSIa (B) guiRct
(C) TR SUTE BT (D) S
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109. forE 31 & T o | A YR W UF The G 27
INBEIEIS] (B) feresiels
(C) HIH TT 3T (D) STaH
110. Which of the following is considered as the earliest compilation?
(A) Yajurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda
110. RS (FRCERE SHRSCE 7[af Aot et [eave 41 23 2
(A) ‘TgE (B) ‘Sdcaw’
(C) ‘oW’ (D) STCT’
110. oA @FALCE 2ADRToN el 20T [ave 1 232
(A) ‘T (B) ‘w2’
(C) ‘<eaw’ (D) “STNEW
110. TR FeE satgs fifafem gyram fom fosme gaam g1
(A) ag (B) “FFotere’
(C) ‘foee’ (D) ‘@mee’
110. F=ffaa @ @ 58 g Tge oo TFT ST 27
(A) =g (B) ‘wrordqa’
(C) ‘FFae (D) ‘@mae’
111. Which of the following places was a part of the Indus Valley Civilization?
(A) Machilipatnam (B) Babylon
(C) Mohenjo-daro (D) Byzantine
111. RIS FCE 2m B Teiel Tered omsafe 2
(A) T=feTeT (B) cafeem
(C) SezcGmICal (D) ARCEBIR
111. ficg SfafRe @R 2m g Soro sTerem s e 2
(A) WRfETeTEy (B) mfe
(C) e=eGmIcAl (D) ARCerbiRe
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111. T 99 SRR ey gRAl demta srrmE?

(A) HSATTT (B) sferer’=

(C) TS 3R’ INRESUE]
111. Ffafea § & wH-91 W [y 9 gerar & feen o7

(A) HSfTzTm (B) el

(C) wrEAsIEet (D) ST
112. Who among the following was involved in the Battle of Waterloo?

(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington
112. T0E Ja© FARIRS (@R St wifee ?

(A) TN Q@D (B) ficwmEin 1"

(C) «Tw f2oe™ (D) & QIR
112. Ticb SERerm W (& SABRER 07 Sve f&eem ?

(A) oo Q@S (B) &R e

(C) Tz f2er™ (D) o SRLG
112. TEAE EF™ U1 8T SR SEes oisa &7

(A) -9’ foraa s (B) SR '@

(C) usew feeam (D) i aTfireH
112. Tree it wer # Frefafad @ & & b on?

(A) SHfeE SHmEE (B) ¥R feprerm

(C) TEiew feeer (D) SISt TR
113. Bhairabkunda is a trijunction of which of the following?

(A) Assam, Bhutan, China
(B) Assam, Bhutan, Arunachal Pradesh
(C) Assam, Bhutan, Sikkim
(D) Assam, Sikkim, Arunachal Pradesh
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113

113.

113.

113.

CoTPe IR (@echl [esm ez 2= 2
(A) SPH, PO, B
(B) SPT, PHI-, SREIGET |

(C) =PH, $oH, fofF

(D) =PT, ol Seeset o

qCHA (I oAl BT ARCAIE (T35 ?
(A) P, TBM, B

(B) P, OB, SIRECIGT 20

(C) =P, $o, Fifew

(D) =P, i, Srepelet 2o

EF-adT MEE o8 AT AP TRISHR ST ?
(A) TEM, YdH, =

(B) THM, YaH, 3TEUT=E JaT

(C) wmam, ya, fafem

(D) 31w, faferm, Srevmee geu

Wape Frefefaa & 9 foraen Breiaem 27

(A) FEH, M, 4H

(B) 3TEH, ¥gH, TE0M=d Jaul

(C) e, s, fafemm

(D) 3r@m, fafew, swomeEe gem

114.

114.

Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater

(C) Flowing river water (D) Seawater

RIS (@AREE CTRm T AR 2
(A) PP (B) I=F°q ~A1
(C) @S g et (D) TR et
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114. A @ED THETS FIw 9IS 2
(A) TR (B) 32 w1
(C) =_ifze we o (D) TR o
114. TEEH Fe& TEEr Mere ?
(A) STB-T=T (B) 3T@I-TIa
(C) shem 3mTy 2 (D) dA=hfy 2
114. Fefafad & @ FH-91 @6 § 99=d: THehE g 87
(A) Tewsm (B) =fear =T aHt
(C) el 7t =1 art (D) 9gg T Tt
115. Which of the following mountain ranges is in North-East India?
(A) Barail Range (B) Shivalik Range
(C) Satpura Range (D) Aravalli Range
115. fEffe (@ sHewen Teq-57 ses wqiFe ?
(A) I3 o (B) TRifer o<
(C) AT *Rf@eT (D) SRS RS
115. Tiood “Iee@sie T @Fb Teed ORre S[iEe 2
(A) Q@REe 7o (B) PRiIfere oRfow@
(C) A&7 “Roe (D) =AM o
115. TR e ESIHT AT 1-HHEST TRATe 7
(A) SIS ST AT (B) farenfersr greiim @it
(C) TAYW ST AR (D) AR TSIET ATR
115. Fr=fafad § @ - vdd SJ@er ga 9wd § 27
(A) =R ot (B) faranfersr 2oft
(C) @ageT Avft (D) TaEc gdd 2ft
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116.

116.

116.

116.

116.

Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.
(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

s @ 3% srum 2

(A) FAFFR SR G+ (FHR 2T ey |

(B) eTal?l ST Q¥ (FLR PTe qrey |

(C) S S CPRA B1717)g TReq g9 (IR =P 7%y |
(D) ~[TCh]l ST ¥ (FH NP1 ey |

o

qNewa @ RIS e, 2

(A) FIFFIR7 SRCST GIb (FHOTS 26 |

(B) WeTal?l SRCSH G (FHHOTC S |

(C) S € FMIFRE B717]G ST G (FHHOTS S |
(D)~ SRCeA 4L (TIPS S |

TeEf s faegfoen Mo T

(A) wefgan IRat T8 fies gmm TSt

(B) Hrafgdn wRaH 7 st e Esi |

(C) AT=MM A feh sr fguremen wraf 7@ firestt g TEsh |
(D) YgeRIET vRAH T8 firestt GsiEmE eS|
frefafiaa § @ #9-91 A To@ 27

(A) TETEIT T T T heemidd T3 B

(B) TICTEIT SR T Tsh ShgMidd Je9 2|

(C) 3TSHM 3TN FRIER Fuegg YR F1 TH HEIMad e 2|

(D) Ig= 9RA 1 Teh hganierd T 2|

117.

The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which

continent?
(A) Asia (B) Australia
(C) South America (D) Africa
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117. (F9 TROPR NCecd R, TFaalls (@9 e e (@91 #I19 ¢2 ol ?
(A) «fz (B) wc.fem
(C) wiFel SR (D) e
117. R, TGS (G 992 FEOGE (41 (P TR 945 e So@ FCace ?
(A) «afem (B) STCGfeRI
(C) wiwpel SCfsl (D) =N
117. T5ga Ral, 7o @l 3R hehe T@IRT 96 BRRATST SRS ?
(A) ufeEn (B) swferm
(C) e AT (D) aTfsa
117. JEERET, FhU@1 3R FHehien o Tersi & gie [eRdt 27
(A) TRwE (B) aAteferan
(C) afequr iR (D) 3AHIeHT
118. Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland
118. RIS e SN TS1_T G4 Bo[re; 2
(A) TWISTER (B) BCIR wiEceie
(C) 2[R (D) Ty
118. oo (AL ARE JSAET 9310 B7=E 2
(A) SIaTRI (B) I Bi%f
(C) e (D) TN
118. TEEM S9AT ST S8 g 1Y ffw wEe?
(A) HIETTEERT (B) &4 fgu
(C) =@ (D) et g
118. T=faiRad # @ H-81 9Y® TS SHNHT 1 Th 519 T &7
(A) HSTTRER (B) ¥ g
(C) =aw (D) e
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119. Sudden burst into the open of hot water and vapour from deep underground is

termed as

A) geyser B) volcano
gey

(C) tornado (D) tsunami

119. $5T SO #q1 S99 A O =7 REFREE SRAce fFofe @@l ARa6 (il 22

(A) T 2mad (B) ez
() Seteor (D) pTfd

119. ST P98 (AP S RO o &1 G =71 foisfe 263 e
(A) T 2= (B) =esafarfd
(C) dffary (D) i

119, T EfafwT TEE 2 T o @E siErrrE 3
(A) fog g (B) ¥ Hi
(C) meErarE (D) g™

119. T o ¥ g § 7 U 3R 9T % SAEMF Bed bl bl Al @
(A) TR (B) waTermgEh
(C) sa= (D) G

120. Which of the following is not a component of the Constitution of India?
(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights
(D) The Fundamental Duties

120. RS (@R SRS TR ST 7= 2
(A) N, ~IfEemE e N
(B) %I Foimes SfiEwe
(C) e SfpIT
(D) CTfeRe F97

SLRC-2024/P-111/ 1-F 73 [ P.T.O.



120.

120.

120.

T @D SRS FRFLCE Tomie 77 2
(A) TG ~AROERE o T

(B) w3 i wifiem

(C) CMfers S

(D) CMfeRF F97

e sean yraf afafsef s a=t?

(A) TgEAE faeeaT AagmEn

(B) fereanf ferefea wiwens

(C) TfeT Hg

(D) AT HraT BT

frfafga 8 @ F=-a1 27w vyra & afaum 3§ T8 77
(A) =T % Hifg-Fever frga

(B) g = fcwes afesr

(C) wifersh Aferepr

(D) Tifetsh wdex

121.

121.

121.

121.

121.

A continuous rise in the price level is called

(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
ToT9 B9 G o (P =

(A) TRl (B) RIS

(C) wIfs Jurgife (D) Jurgife

(A) frverer-—Rife (B) SIS

() wfe qurfe (D) T@rife

oTe T AT 96 Sierer™ SR gt

(A) RTRIEH (B) fewerem

(C) TTEUNETHRATH (D) FRITH

T T § Fe 9t 1 e S

(A) TTRITH (B) fewrm™

(C) TTEEFATH (D) WATH
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122. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

122. JCR 2 Sifgs Sfex  (DAY-NRLM)® DAYR 5 & 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

122. SeF AT S i (DAY-NRLM)-9 DAY @108 Fl Q-0 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

122. “¥FA WA AEHiags TRE (DAY-NRLM )3TE DAY H1 JSHI17
(A) Teafeae smfafafafa Fismr (District Availability Yojana)
(B) dFearet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dFeaTa gdfe® AsHT (Deendayal Ayurvedic Yojana)
(D) feafede wfawm= FSAT (District Achievement Yojana)

122. TFH T Asfifast feM [National Rural Livelihood Mission (DAY-NRLM)] # DAY &
7 a1 7

(A) 5o Suetsgan JASHT (District Availability Yojana)
(B) dMeaTt 3T@NEd AT (Deendayal Antyodaya Yojana)
(C) dFeaa HTﬂﬁﬁ% AT (Deendayal Ayurvedic Yojana)
(D) fStel 3uafsy ASAT (District Achievement Yojana)
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123. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori
123. FRERS @< Toap Ml 5382 (SIS o1 PIACR ?
A) ToGT (B) SN FIF (21T S
(C) e 2if2 (D) T &zF1
123. TIF @ SRR MR TR (SR 7R A0© 2
A) yoeF (B) 7Iw® 19 (e ST
(C) Ffferg 2if2 (D) R Era
123. TEAH Je T ARl 925 & qUeT forgmE
(A) geg==T (B) 37d1md SR &3t dimr
(C) R &ife (D) faft forrt
123. FfafEa § & wH-81 3u=me w=eft e a gr fomn mne
(A) FFsT (B) A TR &2t HiHT
(C) TrEfer &gt (D) £ forrt
124. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)
(D) Central Industrial Security Force (CISF)
124, SRR GG SO (TR THE TR B 9= 2

(A) ORI Tope IRl (ICG)

(B) g I 79 (SSB)

(C) K = oI (NSG)

(D) @R Srifes far-rerifzat (CISF)
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124.

124.

124.

Ao (I SRCST (PR I ~[feraifaat =7 2
(A) SRR Toge ARl (ICG)

(B) g ST 79 (SSB)

(C) <IBH =1 o (NSG)

(D) TR Srmife FRererfz (CISF)

T Fe T TRaH e SR Tty g J=7
(A) 3f=Em wE TE (ICG)

(B) & fomr s/t (SSB)

(C) Jvma fafwsfidfe mE (NSG)

(D) ¥ gerfesder fufsrsfif v (CISF)

frefafaa 8 @ 9-81 ara o1 FEE g el 59 A 27
(A) WA deterss o (ICG)

(B) @wrE €M1 97 (SSB)

(C) T geaar M (NSG)

(D) s 3fenfies granm s (CISF)

125.

125.

125.

125.

What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au

T PRSP 3P 2

(A) Ag (B) Si
(C) Sv (D) Au
FR IS AT Ft 2

(A) Ag (B) Si
(C) Sv (D) Au
FHI T fefesrtem ar?

(A) Ag (B) Si
(C) Sv (D) Au
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125. =idl o1 vHEfes g = 2 v
(A) Ag (B) Si
(C) Sv (D) Au

126. Who is the President of the USA, as on 1lst of January, 2024?
(A) Barack Obama (B) Donald Trump
(C) Joe Biden (D) Rishi Sunak

126. 1 SFEIE1, 2024 AT WP ST A (Pl 2

(A) JETE S (B) (TS G

(C) & JfEce (D) o T
126. 1 SRS, 2024 ACCF TR TSACET 1371 (2

(A) I SN (B) (TFIF® G

(C) Cel AT (D) 4 7
126. 2024 AEATEH 1 STFATR @I TR S TetH SRRATET 9

(A) TR 1= (B) Bles 2

(C)  =mged (D) Teaft gk
126. 1 SHadl, 2024 ®I GYH T<T JHIERT 1 TgUfd M 27

(A) TR A= (B) EHTes 2r

(O REIREES (D) ¥ g

127. Which of the following is considered as the powerhouse of an animal cell?
(A) Nucleus (B) Golgi apparatus
(C) Ribosome (D) Mitochondria

127. afEfe @GR AN @RS i $q1e el [eava 41 29 2

(A) PN &F (B) al’&fer 19
(C) I'®Y (D) =Bl
127. o9 @FocE AN @ IeEa *fed T B [oawa s =02
(A) TCfFPT (B) aleIf& 3%
(C) 2SN (D) SRCHIRgE
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127. e se@ [ fafgea amm e iy g8 fufmm smne
A) Tefa fie (B) W@ Thyw
(C) TEasm (D) g Hizal
127. Frefefaa 3§ 9 frd agg ifSTeR 1 qTerersd qHT S 87
(A) (B) Tiestt o
(C) TEsE™ (D) Wi
128. Which of the following countries does not have a seashore?
(A) China (B) Afghanistan
(C) Myanmar (D) Iran
128. FHfGERS e (e M5 Tope wiR 2
(&) B (B) el
(C) =TT (D) =
128. Siod (I (151 TITSH TR 2
(&) 5= (B) SirolifevgeT
(C) ST (D) 2
128. TR s« BTeTEl ol W e
(A) =M (B) STHII-EH
(C) HTHR (D) A
128. frfafad & & fora w1 # wyzae 7 27
(A) == (B) STHIEAH
(C) mm (D) T
129. The world’s largest island Greenland is a part of which of the following countries?
(A) Denmark (B) Sweden
(C) Canada (D) Iceland
129. #AF 2o A7, TEY @FEILe O S5 2

(A) (TP (B) DECwA
(C) F=Ie DRIEGHK
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129. RCsw 2o A7 &TeS (@R (TeIR =% 2

(A) (TR (B) oA

(C) Il (D) SRS
129. A A f5u e s« grRRf amem?

(A) =TT (B) ggaA

(C) =prTET (D) 3MEH<
129. fova %1 9o w21 gu, fiacs, fha <91 &1 w27

(A) TR (B) Te

(C) et (D) 3mgEcte
130. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
130. SN AESHR R Jrelal & =i 2

(A) SaEms (B) @25

(C) 77 (D) Srwals
130. (2N AT CF AS (@0 e 2

(A) vaRms (B) @=2%

(C) TF (D) Srwalls
130. 3T TS e TSLEET sgHH?

(A) =R (B) S&Ewd

(C) T (D) T
130. W =g 6t 3ifaw qeer w-d of?

(A) =3 (B) SiNerR

(C) T (D) el
131. What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita (B) Jakoimoti
(C) Kherxuti (D) Soirindhri
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131. T8 kIR o1 Az A [ SHifew 2

(A) wIETwe Wzl (B) =Sl

(C) el (D) IR
131. B *)FAEA PromER W J e 2

(A) =IRwe wiEe (B) Wt

(C) =TS (D) iR
131. »ffu=a vieeat foefy g1 ame?

(A) 3TEIEE STTET (B) STrehmfd

(C) wgfa (D) #fesh
131. *iuad Tieed I SE 1 AW =T AqT?

(A) ATEES STEaT (B) SmehigHIdt

(C) @egd (D) &
132. Who was known as the ‘Lion of Mysore’?

(A) Adil Shah (B) Hyder Ali

(C) Krishnaraja Wodeyar (D) Tipu Sultan
132. ‘SR PR’ (I SreTS ik 2

(A) =it 1z (B) =Zwa W

(C) T ST (D) o7 perem
132. (F “WREE Pz’ e AR facere 2

(A) e =12 (B) ZR@IE Sl

(C) pReTerl SRS (D) fbe] >erer
132. 9r ‘gl fe’ S ffrsmeea?

(A) 3Tt 7 (B) @TgeT SAredt

(C) FERIST 3R (D) g geam
132, ‘HHL o IX ok AW ° ToRe ST ST on?

(A) e 3ITE (B) T 37

(C) FRTS FNeAR (D) & geam
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133. Which State of India has Jallianwala Bagh?

(A) Punjab (B) Haryana

(C) Rajasthan (D) Uttar Pradesh
133. TSRS (FACH! TS SRR 7S 2

(A) “1&[ (B) ZIfEme

(C) &= (D) Teq 2o
133. SIS 9 SRS (| TS S[AES ?

(A) e (B) =3I

(C) rEZI (D) Teq 2
133. el Mare ST YRAH o« TgSHeTe &7

(A) UTTTE (B) EIAMT

(C) TSEa (D) 3T TeT
133. SiforadTen s 9Rd o e Tsg 7 fed 37

(A) ST (B) @fwmm

(C) TSE (D) 3T 9T
134. Which of the following countries was a part of the Axis Group during the

World War 1I?

(A) England (B) Japan

(C) France (D) Soviet Union
134. 0N [ea TR Ml (R o S (sbe SRAme ifes 2

(A) 2eCoTY (B) w17

(C) F™ (D) cRfScED Tefere
134. T origfm W @i faer e T srwifen s fost 2

(A) @S (B) o[

(C) zm™ (D) CTIfSEre I1eq
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134. AT Y7 IEETH THIE MERTE 81 o6l §1aU Tfrdd ST SerTHA?
(A) T= (B) STIH
(C) »r+ (D) @fiRa g3fem
134. f=faiad # 9 wF-91 1 o favags o M gf aqg 1 feean on?
(A) IS (B) ST
(C) wE (D) e g=
135. The ruins of Angkor Wat are in which country?
(A) New Zealand (B) Indonesia
(C) Vietnam (D) Cambodia
135. 939 M54 KSR CFIICH! 71 ?
(A) fefecere (B) Tcycafeal
(C) fecapa™ (D) A
135. WFIOb-9q WSO (FIe (709 SR ?
(a) Frefeemre (B) FcwicaTtem
(C) Termea™ (D) e
135. AT ITd IEET STERTel sfel gTetd & ¢
INIRESIERC (B) 3= <R
(C) e (D) v fean
135. TR 91 % Weel ford 3w 1 §7
(4) =TS (B) M
(C) forrem (D) wafea
136. Which of the following countries does Assam share international borders with?

(A) Bhutan and China

(B) China and Bangladesh
(C) Bangladesh and Bhutan
(D) Myanmar and Bangladesh
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136. FHREINS (FEER (PR PO SPICT SBETeF AMEE =K ¢ ?
(A) SO I B
(B) B =< AT
(C) SRECH] S PHIT
(D) IR S FILETCH]

136. 57 (M (I8 SHICR T@EIfeF Aol ?
(A) TOF € B
(B) DI @ et

(C) ETT € THI

(D) SRR 8 I

136. TEMI 99 TR SIS e T ?
(A) qTH 3 =
(B) = AR sTetres
(C) STATSRT 3T =
(D) BIFER TR TS

136. @n ffafea @ @ fo <9 & a1 Taus HHn |ren it 87
(A) e 3 =
(B) = 3T amettes
(C) STATERT 3R M
(D) PR 3R IEATGH

137. If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East
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137.

137.

137.

137.

Tt Qe [ AR 7] YRGBT (olee ¢oeel SR wif2 Wiy, or R (@@ ecs! friter SR
107 ?

(A) WFFR #[1 [

(B) “[79 #[1 “A5wCat

(C) 5% *[[1 [T

(D) TES °[1 e

T @3 R vafz (e wAEbR s ST Tee ar, o «ft @i Tuce 2
(A) wfERel (A oM
(B) & (AT oA
(C) M6 (AT 2= me
(D) Tes (A Hme

T fora st it =aEiEm aEEiim o o %e, steen forn @ feme forai?
(A) TIATHEE HEST
(B) TSI FHTET
(C) FHTEEHR AT
(D) TR HHS

I g gaTs e == | WY et i 3R IgH W @ B, A 9% fRd e § 3 R @ 77
(A) 3feror & gd it 3R
(B) 9d ¥ ufvem i AR
(C) dfvem & qd i AR
(D) 3T H 94 I AR

138.

138.

138.

What is the Westernmost State of India?

(A) Rajasthan (B) Punjab
(C) Maharashtra (D) Gujarat
TG GRS AT AFT ST (o2 2

(A) <&z (B) “leiq
(C) =L, (D) ¥SAH
TICSR BTN ST (I 2

(A) rEEE (B) “NgR
(C) =18 (D) @&=b
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138. YRAMH GHTE &7 TSI el ?

(A) TSR (B) u=TE

(C) wewrg (D) Tsrd
138. IR o Tad UfTeHt T HH-T1 27

(A) TSI (B) USE

(C) wewrg (D) Tsrad
139. Which of the following peaks does not belong to the Himalayas?

(A) Annapurna (B) Kangto

(C) Anamudi (D) Kamet
139. ffeTIe (FRICHT %9l f2ueme smafe = 2

(A) e (B) JICHI

(C) smrf (D) FICTS
139. o (@ b AR wrwsfe 73 2

(A) (B) PICH!

(C) = (D) TG
139. TrewE 9« fuRafer aeaf T=?

(A) st (B) wa

(C) emf (D) e
139. fr=fefaa & & -t =it feurem @ weifea i 27

(A) st (B) i

(C) mmd (D) e
140. The Great Barrier Reef is located in the seas near which continent?

(A) North America (B) Australia

(C) Africa (D) Europe
140. (FF TRCTR AN[ A0S J2R 276 2D S ?

(A) Teq S (B) = fern
(C) rfErpl (D) 3T@I
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140. J2< 2 2B (b WFE %) (@R TR W6ad 7w e[S 2

(A) Teq S (B) G

(C) ==l (D) 2TcA
140. U2 IR T 96 TRRET @Iy deierE g7

(A) IT AT (B) 3o

(C) Aishht (D) 33
140. Uz dfer d% fore Aergi & fehe agz o ferq &7

(A) I iR (B) aFreferm

(C) TR (D)
141. Which of the following is a mountain range of South America?

(A) Andes (B) Karakoram

(C) Alps (D) Caucasus
141. RIS @O 7 SERIE GF 2RSHTET 2

(8) dfem (B) FEICHEN

(C) MR (D) IR
141. A @FED 75 EHRIE G0 7T 2

(A) st (B) FRICHEN

(C) SRt (D) T
141. TEEN S&=T Wil AR ST S ?

(A) T (B) R

(C) Ted| (D) HehdTE
141. F=fafed & @ F9-o <faor smfe i wda sa@en 37

A) TEN (B) HHIHIH

(C) e (D) I
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142. The giant waves caused by volcanic eruptions or earthquakes under the sea are
known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

142, M99 ST @[T SCRER TralEe S=@l =2 3 541 328 (OF (Al =
(A) Pl (B) I-w=el
(C) PIRTT® (D) Bfrem

142. U 6 ACIABIE AYPRATS 1 SRR T 8 T2 ST T 2
(A) (B) gk
(C) TTRIT (D) Pfrer

142. o fHem@ 3101 diEl SRS TaT STHreHTEs| 9t 16 SRR eI
(A) gt (B) SwHIETE
(C) % srgEr (D) = fiftEmm

142, 9z o A< SATemyE foRle A1 T o HROT Icd I9Ia Tl I FET a8
(A) ATt (B) =Ihard
(C) SHHT qHE (D) SEEerH

143. Who is the Chairman of the Rajya Sabha?
(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President

143. FEpPTON 4= (I 27 2
(A) T (B) TrAIATS
(C) CCIPTON T4 (D) FI 7R

143. TEPTOE I=F (F ?
(A) =g (B) Trmigafe
(C) CIPTSR S (D) wgeIf®

143. TS 99T STRERET 9r?
(A) TR T (B) TIeT3 BRRAIR
(C) g et gl (D) emewfIR
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143. TSI 991 61 37T I aidl a7

(A) SuH Tt (B) Surgafd
(C) wArFaT TeE (D) Tgafa

144. Who administers the Oath of Office to the President of India?
(A) The Prime Minister
(B) The Chief Justice of the Delhi High Court
(C) The Chief Justice of the Supreme Court
(D) The Speaker of the Lok Sabha

144, O9F J_ /ST @0 *191 #[10 FCIRR 2
(A) e
(B) &l T FyRIeRE 25 R
(C) TSN TRERR Y2 WX
(D) CEIPTOR S

144. (F SRS AZAMSE AR #15 F ?
(A) T
(B) fralt T RIS 2 {1l
(C) Trex MR 24 [oEeife
(D) CGTRTSE S

144, RAN TRRARA foam aaafad 9r e
(A) TITETE T
(B) fegt st fafsentafs e feemama
(C) it fafsrenfats mer femmema
(D) g el glfii
144. WRA % TPALT 1 U8 =l 39 S fGamar 27
(A) TaH Tt
(B) fag! 3= =mamera o g =t
(C) HaT= =T & &I =R
(D) TArRET TeAE

145. Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka
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145. RIS SPE qAE@PHRA (FIeCH! ALEEICS e e 2
(A) (B) A
(C) caredt (D) B
145. Ticb SR PR (P ImREn AEeTS e o =12
(A) TR (B) Iw=
(C) crrort (D) Il
145. TEETE B AEHH o6 SHsE! ST SHE?
(A) @ (B) e
(C) =i (D) deht
145. Fefaftad § 9 3| o1 ShiH-91 giiid SeEs ST O §1E 9 11 8id1 27
(A) = (B) F&m
(C) re (D) 2
146. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji
146. (GIFeT3 B2 SIEAECN (T TS SRS 2
(A) =2 (B) wiRw7a
(C) fefepamm (D) &
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146. (IR Bl ST (F% (AR OES 2
(A) @b (B) ==
(C) Toprm (D) CIfS
146. THTZ TET AR FHAMT o2 &7
(A) SRErd (B) WAL
(©) fargfram (D)
146. IFaTTE AT JHUH Heg Hal 16d 87
(A) SiEre (B) TR
(©) fagfram (D). #msh
147. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?
(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh
147. (N S FROEHT @O (9N TS (27, (@I TS SHTS 2
(A) Teare (B) feaimweT eionm
(C) W=, (D) &9 2o
147. Al (2, MW S« FRGER G0 Slol, (Fo S ST 2

A) Teqe (B) feswe aiom
(C) =g (D) Teq 2o
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147. TS waq wE@ [ 7 @il Tidr JEn §e TEsied |7
(A) W@ (B) femrerat wewm
(C) AEWg (D) 3T 9
147. fdr 99, Mide W FEiad il U 30, fhe Ts 4 forg 27
(A) ITEE (B) fewrerar waw
(C) wermg (D) 3 e
148. An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called
(A) Freedom Hour (B) Lunch Hour
(C) Zero Hour (D) Party Hour
148. SR AOMS (FIC GOl e1q ST TR Slolell S2ce 2/ [wa =i T Ff<q 1
I S AR GuB] TP 6 for (i 2w 2
(A) FE I (B) NHI=CeIE Flel
(C) T 1o (D) &I Sl
148. (I G WeeTa AT Donrieie Gh(b #i8 1B T4 24l /Rl s s 7 w@elfe
(A) FEE B (B) NIZCOIGCTd el
(C) [T FleT (D) wetare <pret
148. WRAM HOSE UM FYFIH S 99 Seal SERgSmEn |t /Eewt R mfgsnesm

forar gRN, o T |/ gy
(A) 3eie & (B) TFSIEH Mer &
(C) wfera’ & (D) T &
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148, 9Nd™ Tug ¥ foreft we faq & w3 # for forelt & g & wea /4 3oTU S |ehd aTel 39 U 0

%1 e AT 8
(A) T A (B) HeATE-HISH Tl
(C) T HTA (D) Sl T

149. Who is the Chairman of NITI Aayog?
(A) The Finance Minister
(B) The Prime Minister
(C) The Governor of the Reserve Bank of India

(D) The Vice President

149, TS (NITI) SR SLFF (e 2
(a) fre =@
(B) ez
(C) SR fFeTs (@39 919efq
(D) ToEI 7S

149. T (NITI) SCCRE SL=F (F 2
() fre @
(B) T
(C) SRR [are WeE e
(D) Treigfe

149. Hfifd (NITI) = SrefiEr ar?
(A) T =g
(B) TITETE AT
(C) wrafy femed siepfa MR
(D) <ISTg TERMN
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149. Hfifd (NITI) TR o1 3Te981 S 27
(A) o wft
(B) W& HaAt
(C) Wt fisrd Sk o1 TaX
(D) Fwrgafa

150. The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat

(C) Golaghat (D) Dibrugarh

150. “JREIOIE CNLIENT PR (Flee fEretre exfzrs 2
(A) TRPTISR (B) <21
(C) oD (D) Tegore

150. 9IS CHELIANE SPTCH (Pl (eI SES 2
(A) PRI (B) =26
(C) colrer=B (D) fegore

150. MMM FAHTS o1a AiaETerdn ¢ S g7

(A) R (B) SeW@

(C) TTETE (D) fegme
150. FATCATE Rt stem o fore oot o feora 27

(A) Rraamr (B) @R

(C) TemEe (D) fegme
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